Unit 1 Lecture 1 Slide 55


To form the relationship matrix of the E-R diagram of the previous slide, we label a column and a row with the name of each one of the relationships that appear in the diagram.  Since there are four entities will have four columns and four rows.  To proceed in a systematically manner it is better if we work with one row at time. Since the entity customer is not related to itself nor is related to the entities item and warehouse we write dashes in these entries.  However, at the intersection entry of the customer and order entities we write the name of the relationship between the customer-order order pair.  Notice that we write the name of the relationship going from customer to order.  Proceeding in a similar manner we fill in the remaining entries of the matrix table.


Since in the E-R diagram there are no recursive relationship there are no relationship names in the diagonal of the matrix.

